1) The London Eye is a big wheel with pods to carry passengers.
It takes 30 minutes for the wheel to make a complete turn.
This graph shows the height of a pod above the ground as the wheel turns.
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2) This graph shows the number of people living in a town.

Look at the graph.
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3) This graph shows the height of
a balloon at different times. 60 P
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4) This graph shows the cost of
phone calls in the daytime and in the evening.
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5) This graph shows how the weight of a baby changed over twelve months.
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6) 150 people take part in a walk. 150 .
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7) A hot liquid is left to cool in a science

experiment. 110
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8) This is a graph of a firework rocket,
showing its height at different times. A
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Estimate from the graph how many metres 5
the rocket falls in the last second of its flight.
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